Unit 2 Population FRQ

Percentage of older people in the UK 1985, 2010, 2035
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Question 1

A. Identify the trend depicted in the chart.

B. ldentify at least one other country with a similar trend.

C. ldentify and explain two reasons that the average population age is increasing in
developed countries.

D. Identify and explain one social consequence that countries face as their populations age.

E. Identify and explain and one economic consequence that countries face as their
populations age.

F. Identify and explain one pronatalist population policy a country has passed in the
developed world to address the issue of aging populations.

G. Discuss how immigration policies in the developed world have changed as a result of
low birth rates and aging populations.



